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Gréiweschlass
The Koerich Gréiweschlass (Count’s

N
g Castle) is known as the gateway to the
2 E N Valley of the 7 Castles. Explore every
2 2B ) inch of the ruins. Awaiting your visit are
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Rally through the Gréiweschlass

Find the right key to open the mysterious chest! Enter the
numbers on the last page to work out the number of the
matching key.

Mission 1

At the entrance to the castle, yov will find
an archway. You can see a year at the top
of the archway.

Write the year here on the right and enter the ﬁ \
marked number in the key calculation.

Mission 2
Find the administrator’s house.

Take a good look at the facade and find the
mistakes in the picture on the right. How
many are there? Fill in the number.

Mission 3

The castle used to be protected from
intruders by a grid.

Connect the dots in the grid one after the
other and find out which number is hidden
here. Fill in the number.

Mission 4

Find the kitchen on the map. In the
kitchen you will see a small window
where the sink used to be.
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You can still see the holes in the window

where the grille was attached. Which grille
fits into the window? Fill in the number.

Mission 5

Look for the chapel tower on the map and go there. On the first
floor there was a cozy room with a fireplace. The chimney is still
on the top of the wall, but the floor has
disappeared.

You can see three cups on the chimney. Which
cup on the picture on the right is invented?
Fill in the number.

Find the right key!

Do the calculations! The result will show you the correct key to
open the mysterious chest!
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